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1. (10 Points). An amount of work W1 is required to stretch spring with spring constant k1 a 
distance d. An amount of work 2W1 is required to stretch a spring with a spring constant k2 a 
distance d/2. What is the ratio of k1 / k2? 
 

A. 8 

B. 4 

C. 21/2 

D. 1 

E. 2 

F. 81/2 

 
 
2. (10 Points). You hang on one end of a rope that passes over a frictionless, massless pulley. 
Take your mass as m and the mass of the block as M where M > m. To prevent the block from 
moving, with what acceleration must you climb the rope? 
 
 

A. Mg/m 

B. mg/M 

C. (M-m)g/M 

D. (M-m)g/m 

E. 2(M-m)g/m 

F. (M-m)g/2m 

 


